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HEH BHES BEMAS HEE feamn | Bt
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REI-A AR B 35 35 1 35 1
REI-B AR B 35 35 1 35 1
= HBI—A BEREREQ (W) AR B 35 35 1 35 1
® =18 EERBEAQ (@) R o | | ] 3 ]
HRED—A AR B 35 35 1 35 1
HRED-B AR B 35 35 1 35 1
EEI-A EED () L1::) B 35 35 1 35 1
EE1 -8 EED (M) L1::) B 35 35 1 35 1
= EET-A E:EQ (A1) &8 P24 35 35 1 35 1
® mEI b B2 (M) &m o | | ] 3 ]
EEm—A E:EQ (AT &8 P24 35 35 1 35 1
EEm—-8 E:EQ (M) &8 P24 35 35 1 35 1
BFEI-A HEO (A1) #E B 35 35 1 35 1
HF1-8 HFEO (M) #E B 35 35 1 35 1
e HET—A BFQ (AT Fi B 35 35 1 35 1
* P B2 (@0 L o6 | | ] 3 ]
HEM—A HFOQ (AT Fi B 35 35 1 35 1
HEm—B HFOQ (M) Fi B 35 35 1 35 1
BRI —A BRO (AT sk 2 35 35 1 35 1
2RI B BRO (#8) ik 2 35 35 1 35 1
2 BRI—A KR (AT JigE B 35 35 1 35 1
B ARI—B BRQ (#M) ik 2 35 35 1 35 1
ARM—A BRO (AT ik 2P 35 35 1 35 1
ARMD—B BRO (M) ik 2 35 35 1 35 1
HEER I —A WEERD (A1) Jiigk B 35 35 1 35 1
HEER I —B HEERD (%M) Jiigk B 35 35 1 35 1
g HEERT —A WEERQ (HIM) g B 35 35 1 35 1
2 HBERT B HBELD (@) sk o | | ] 3 ]
MR —A WEERG) (AIM) Jiigk B 35 35 1 35 1
IR —B HEERQ) (M) Jiigk B 35 35 1 35 1
. JA—rSLasazh—var®I-A REE (BT Sa— = 35 35 1 35 1
. JO—/azazr—sas@1-8 £E (B4 Sa— ] 35 35 1 35 1
j PEEVEEEEV SRR &Y RE (W) Sa— = 35 35 1 35 1
o Ja—Lazazy—o 308 ESC ) Ua— o 35 35 1 35 1
; PLEETEEEEVEDEDG) &) REE (BT Sa— = 35 35 1 35 1
S Ja—Lazazy—o 3 Q-8 ESC ) Ua— o 35 35 1 35 1
. JA—/SLaSazh—2a @1-A hEE (HIM) Sa— = 35 35 1 35 1
. JA—/LaTa=sr—a0@1-8 (8 Sa— R 35 35 1 35 1
j JA—/SALaTa=5—23Y@0-A BEE (HI) Sa— = 35 35 1 35 1
s JA—/LaTa=sr— 3018 PEE (M) Sa— o 35 35 1 35 1
; JA—/SLaTa=4—2 3 Y@QM-A BEE (HI) Ta— = 35 35 1 35 1
: PRV EEEEVEED6) &) hEE (H14) Sa— o 35 35 1 35 1
4 International Program@ I -A RXfEaTazsr—va> @M PERS s 35 35 1 35 1
‘ International Progran® I -8 BXfasTa=r—va (@M va— = 35 35 1 35 1
} International Program@ II-A B¥fasa=sr—a (i) Sa— o 35 35 1 35 1
y International Progran@ I -8 RXfEasa=r—va> (@M Ta— i ; 35 35 1 35 1
‘/ International Program@II-A =Hr—vay (#i#) Sa— o 35 35 1 35 1
: International Program@1I-B T—vaz (#M) Ta— = 35 35 1 35 1
Fr Y FEADI-A — R (AT LAES -8R - Tih R 35 35 1 35 1
e S ) THED 1B — R () LAES BR-TH FEIEEE i 35 ]
; Fr Y 7EADI-A — R (W) LAES -8R - Tih R 35 35 1 35 1
® Fr Y T7HEDIB — IR () LAES - BR - Tib o 35 35 1 35 1
® Fv ) 7EADOM-A — R (W) LAES -8R - Tih o 35 35 1 35 1
*x U THAEOD-B —IREE (W) LAES - BR - Tib = 35 35 1 35 1
International Program(® I -A BAEIZa=r—vavR—Yy s (F) Sa— R 35 35 1 35 1
t International Program® I -B BAEIIa=F—var"—vu) (#H) Sa— i ; 35 35 1 35 1
Y International Program( 11 -A BAEITAZT—v3YA—sy s ) Sa— e | 5 35 1 35 1
; International Program( Il -8 BAEISa=f—vav~—vyy (@) Ta— i ; 35 35 1 35 1
f International Program(M 1l -A BFEIZa=s—savR—vy s (FIH) Sa— o 35 35 1 35 1
International Program@II-B BABIIazr—2avR—Tvs (#H) Ta— : ; 35 35 1 35 1
FrUTHAQI-A BAZEIS2=7—2av7 EAVR (Rl Ta— fE 35 35 1 35 1
t FrUTHEQI-B BAEIS2=F—2avT7 RAVR (#H) Sa— : ; 35 35 1 35 1
Y FrUTHAQI-A BAZEIS2=7—2av7 KAV (Rl Ta— fE 35 35 1 35 1
; FrUTHEQI-B BAZEIIaA=/—23 V7 FIUR (@) Ta— i ; 35 35 1 35 1
j Fr ) FEEQL-A BAEIZIA=7—2a V7 KAV (FIH) a— fE 35 35 1 35 1
Fr U THAEQM-B BAEIIaA=/—23 V7 FUR (@) Sa— i ; 35 35 1 35 1




S JAE—RFMFR BERE

BEIVATAUAVIER HUFa5L—F

14 2% 3%
2% L LY-E BEHAA WS ern |
wmon | wu | wewn | g | ewon | wa | sewn | we | exon | mu | sewms | s

'3 TAEAARL—=2TDI-A TEARPL—=VTR=2 v (B ®-v—sy : ; 35 35 1 35 1
; THARL—=2TDI-B TEARRL—=UTR—S ) (1) V-3 o 35 35 1 35 1
r GEARRL—=YTDI-A GEAR L=V TR—2 v (FIH) - = 35 35 1 35 1
! GEARPL—=2TDI-B (8 7 - o 35 35 1 35 1
> A4 R L—= 2 FDIA ) By—3v zR 3 35 i 3 1
:{ GA4RL—=25OU-B GEAR ML=V T R—T 9 (@) H-U—3y o 35 35 1 35 1
:f THAR L= TDT-A THAR L=V T KRR (FI) Y-S = 35 35 1 35 1
1 TEARRL—=0TD 18 TEARRL—=T T FISUR (81 i R 35 35 1 35 1
: GEARL—=2TDI-A GAARRL—=T T FAVR (FI) W-y—3v = 35 35 1 35 1
l TEAAPL—=2TQ1-B TAARRL—=UTTF FIRUR () - fE 35 35 1 35 1
> THARAL—=2JQU-A GAARRL—=T T KAVR (FI) 8- = 35 35 1 35 1
; GEARFL—=2FQm-B THAR ML= T T RNV R (%8 £ fE 35 35 1 35 1
'3 THAR L= T-A TH—HLRTH—T VR (HIH) miyuki = 35 35 1 35 1
; THARL—=2TD1-B TA—HANISTH— DR () miyuki o 35 35 1 35 1
+ FEARAPL—=2 T A G — AT F— DR (FI) miyuki = 35 35 1 35 1
l\/ TEAAPL—=25QT-B TA—DNIKTH— VR (%) miyuki fE 35 35 1 35 1
> GHARARL—=2 I OU-A G — AT A= IR (FI) miyuki = 35 35 1 35 1
«? GA4RARL—=2TQW-B TA—DINISTH—I VR (M) miyuki fE 35 35 1 35 1
i GA—HYR DA Gr—HYRRARS ¥ 54X (W) miyuki S 3 1 35 1
H GE—HYRALDI-B GE—HURRRRS NS4 X (@) miyuki R 35 35 1 35 1
,‘, TA—HYRALDI-A TH—NURARRR D v 54X (Hi#) miyuki ; 35 35 1 35 1
‘i GA—HUYRAFDI-B GE—HURRRRS 054X (@) miyuki o 35 35 1 35 1
5 Gx—H 1A FDI-A GE—NYRRRAND Y5 X (Hi) miyuki = 35 35 1 35 1
G —h )R FOL-B GA—HURPRRY XS X () miyuki o 35 35 1 35 1
Z FURSTF—TLADT —A HIPHOP (BT%A) i = 35 35 1 35 1
A FURRTF—TVADT B HIPHOP (33) i o 35 35 1 35 1
7 HURIT =TV ADT A HIPHOP (TR ks = 35 35 1 35 1
! FURRTF—TYADT-B HIPHOP (233) i o 35 35 1 35 1
Z HURIT+ =2 ZDM—A HIPHOP (fT3A) iy ; 35 35 1 35 1
3 HURITF—T Y ADM—B HIPHOP (33) L o 35 35 1 35 1
Z FURSTH—T VAR T —A 2T ELD (W) 45 - Aneku = 35 35 1 35 1
f‘( HURINTH#—IVRAQ@1-B 8y 7-EFY (BE) %738 - Ameku fE 35 35 1 35 1
7 FURST+—TYADL —A 2T ELD (W) 45 - Aneku = 35 35 1 35 1
! HYRINTH#—IVAQT—B y7-EFY (BE) %738 - Ameku fE 35 35 1 35 1
M FURST+—T Y A@M—A 2T ELD (W) 45 - Aneku = 35 35 1 35 1
; FURINT+—I 2 AQM—B ByT - ELY (RE) %18 - Ameku fE 35 35 1 35 1
Z FURNTH—TYABT —A JSLT - HBDA (A 44 - HBDAR = 35 35 1 35 1
A HYRRT+—TVR@ T -B LT - HBDA (#41) R - HBDARE IR o 35 35 1 35 1
7 HURIT+—T VAT —A JSUT - HBDA (HIIA) i - HBDARIE = 35 35 1 35 1
! FURRTF—T YR —B JSUT - HBDA (81 R - HBDAR iR o 35 35 1 35 1
M HURIT+—T Y A@M—A JSUT - HBDA (HIIA) i - HBDARIE = 35 35 1 35 1
5 FURNTF—T Y ZA@M-B JSUT - HBDA (81 R - HBDAR iR o 35 35 1 35 1
THF4LTDI—A HEA—T v (W) #XNM - 0 = 35 35 1 35 1
Z TOTALIDI-B REA—T vy (%) HEM - 0 o 35 35 1 35 1
7 TOTALTDI-A WES—T v Y (W) HEM - 0 = 35 35 1 35 1
> o742 IOI-B REA—T v (%) HXM - 0 o 35 35 1 35 1
% THF 42T DW—A Ty (H) EXM - 0 = 35 35 1 35 1
o7 4L TOM-B Suy (%8 HXM - 0 o 35 35 1 35 1
TOT4LID1—A EET FAVZ (B HXM - 1A = 35 35 1 35 1
Z TOTALID1-B MET KAV () HEM - 0 R 35 35 1 35 1
7 FITF42T@U A HET KAVR (BT EXM - 0 = 35 35 1 35 1
> o742 I@T—B MET KAV () HXM - 0 o 35 35 1 35 1
% THF 42T QW—A HET KAVR (BT EXM - 0 = 35 35 1 35 1
o7 4L TQI-B MET KAV () HEM - 0 o 35 35 1 35 1
TOT4LTDI-A 1rFaEd—var B E - EE = 35 35 1 35 1
Z ToTAIDIB frFaEE—v 3 () 1 - BT R 35 35 1 35 1
7 7742 T@U-A 1oTnEE— 3> (M) E - EmE = 35 35 1 35 1
> o742 IIB {rFaEE—v 3 (M) 1 - BT o 35 35 1 35 1
% 79T 42T OUW-A 1oTnEE— 3> (M) E - EmE = 35 35 1 35 1
7974 IPU-B {rFaEE—v 3 () 1 - BT o 35 35 1 35 1
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® RARTOT42TD1—A BEA— v (M) %8 = 35 35 1 35 1
x RART 974 27D1-B EEA—S vy (88 =8 . 35 3 1 35 1
Z RART 9742 TDT—A BEA—U v Y (W) E3 ] = 35 35 1 35 1
7 RARTHF 42 IDT-B A 90 (88 %8 I i 35 i
; RART O T4 2 TOL—A BEA— v (M) %8 = 35 35 1 35 1
® KARTH T4 T OM—B BEA— vy (M) =8 b 35 35 1 35 1
® RARTOT42T@1—A BEET KAV R (BT %8 = 35 35 1 35 1
1 RARTH7 425218 BT KAV (%) B o 35 35 1 35 1
Z RARTI742T@U—A BET KAV (W) E3 ] = 35 35 1 35 1
7 RARTO7427@1—B BET KAV (#8) =8 o 35 35 1 35 1
; RARTY T4 2 TQM—A EET KAV (R RE ; 35 35 1 35 1
@ KARTH T4 T RU—B EET VR (M) =8 . 35 35 1 35 1
® RARTOT42TQ1—A FL—vaz (MW HRE - KINAKO = 35 35 1 35 1
1 RARTO7425@1 -8 FL—vay (@) HRAE - KINAKO = 35 35 1 35 1
Z RART O T4 2 TQL—A FL—vaz (MW HRE - KINAKO = 35 35 1 35 1
i RART 74 25QT—B FL—vay (&M HRE - KINAKO o 35 35 1 35 1
; RART O T4 2 TQL—A FL—vaz (MW HRE - KINAKO = 35 35 1 35 1
) RARTH7 4 2 5QM—B FL—vay (@) HELE - KINAKO o 35 35 1 35 1
- FAELBLY DT —A FA KL (R Yuuki = 35 35 1 35 1
1‘ FAEL- 8LV DI -B TA KL (&8 Yuuki o 35 35 1 35 1
‘; FAELBLY DT A FA KL (R Yuuki = 35 35 1 35 1
v FAEL- 2L DI -8 TA KL (&8 Yuuki o 35 35 1 35 1
i FA KL BLY FOM—A FA KL (B Yuuki = 35 35 1 35 1
@ FA KL 8Ly FOI-B TA KL (&8 Yuuki o 35 35 1 35 1
- FAELBLY DT —A 2LV (HI) Z5 = 35 35 1 35 1
1‘ FAEL- 5LV QT -B ALY (#8) =5 o 35 35 1 35 1
‘; FAKL - SLY @I -A ZL k) =8 = 35 35 1 35 1
v FAEL- 2L QT8 ALY () =5 o 35 35 1 35 1
i FAEL-2LY QI-A fLo b (R Z25 ; 35 35 1 35 1
@ FA KL 5Ly FQI-B ALY () =5 o 35 35 1 35 1
- IVE—FAVAVRTH/AS—DI—A DTH (HA) Mickey = 35 35 1 35 1
7y TUE—FAVAYETH/AI—D1 -8B DTH (%4 Wickey R 35 3 1 3 1
;l TVE—FAVAYRTY ) AS—DI—A DTH (HINA) Mickey = 35 35 1 35 1
Sa IVE—FAYAVETH/AS—DI-B DTH (#39) Mickey o 35 35 1 35 1
:,‘\,i TVE—FAVAYRTH ) AS—DI—A DTH (HINA) Mickey = 35 35 1 35 1
; IVE—FAVAV LT/ AS—DI-B DTH (#39) Mickey o 35 35 1 35 1
- TUE—FAVAVRTY/AS—@T—A + YouTube (A W= = 35 35 1 35 1
7y TVE—FAVAYETH/OI—D1 B 5 - YouTube (1) - = R 35 3 1 3 1
;l TVE—FAVAYRTY ) AS—@I—A 5T - YouTube (R W= = 35 35 1 35 1
or IVA—FAVAV LT/ 0S—@0-B 5T - YouTube (#%1) ww - =) o 35 35 1 35 1
r‘gi TVE—FAVAYRTH ) AS—QW—A 5 - YouTube (RI#) W= = 35 35 1 35 1
) IVE—FAVAV LT/ 0S—QM—B 5T - YouTube (#40) ww - =) o 35 35 1 35 1
£ 54T ARY FHAEDT —A BEA— vy (WM R = 35 35 1 35 1
i 547 - ARV FHAEDT —B BAR— v Y (%8) R o 35 35 1 35 1
7 54T ARYRHEDT —A RES— v Y (W) L1 = 35 35 1 35 1
/ 547 - ARV FHEDT —B BAR— v Y (%8) R o 35 35 1 35 1
B 547 ARV FHEDT A L1 = 35 35 1 35 1
l\ 547 - ARy FHEDOT—B BAR— v Y (%8) R o 35 35 1 35 1
£ 54T ARYMHHED T —A BET KAV (M) B =R 35 3 1 35 1
i 54T - ARV PR T —B BT KAV (88) R o 35 35 1 35 1
7 54T ARV FHEDT A WE7 KAV (W) L1 = 35 35 1 35 1
/ 547 - ARV FHERT —B BT KAV (88) R o 35 35 1 35 1
: 54T ARY RHEQT-A WE7 KAV (W) L1 = 35 35 1 35 1
«; 547 - 4Ry QI —B BT F/AVZ (#8) W o 35 35 1 35 1
£ 54T ARY DT A ARk () LERE: = 35 35 1 35 1
v 547 ARV MHEDT B RY b () L] R 35 35 1 35 1
j 547 AR FHAEDT —A AR (HI) wiE - = 35 35 1 35 1
/ 547 - ARV FHEDT —B AR (@) HE - R o 35 35 1 35 1
s 547 AR FHAEDT—A AR (HI) e - = 35 35 1 35 1
‘3\ 547 - 4Ry MEfE@I-B AU b () L] R 35 35 1 35 1
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2R 35 1
BURHIED T —A BED (A1) HER B 35 35 1
= o 35 1
BRGHIED T —B BED (#8) HEE R 35 35 1
2R 35 1
[ BEHAEDT —A BED W) HEE e 35 3 1
8 = o 35 1
@ BEHEOT B BED (5 HEE R 35 35 1
ER
35 35 1 35 1
BRGHIFDI —A BED (A1) HER BE
= an 35 1 35 1
BRGHIEDT —B BED (#8) HEE R 35
i ar 35 1
BBHIED T —A B{RQ (AT IR b 35 35 1
2R 35 1
BREHE T —B BRIZQ (#H) IR B 35 35 1
o 35 1
B BEHEDT —A BB W) R R 35 35 1
H 2R 35 1
@ BREHER T —B BRIRQ (#H) IR B 35 35 1
an 35 1 35 1
BRIGHIEQT —A BRIBQ) (Wit aR R 35
ER
35 35 1 35 1
BRGHI I —B BRIRQ (#H) AR BE
R 35 1
BRIGHIESD T —A BRIEQ) (Wit @k R 35 35 1
5 2R 35 1
BURHIIEQ T —B BRQ) (#3) Bk B 35 35 1
o 35 1
= BEHIEG T —A BB (Hi%) k 4 35 3 1
5 3. 2R 35 1
6] BBHEST —B BREQ () Bk B 35 35 1 _
2 5 1 35 1
BRGHIEQT —A BRIEG) (Wit @k R 35 3
ER
5 35 35 1 35 1
BRGHIFQ M —B BRBQ (3 Bk BE
A % R 35 1
z H K70/ 0S—D1-A ) LA HE % 1
R 35 1
4 $oY K7/ a0—D1-8 %) HE e 35 35 1
; A * an 1 35 1
7 #9YEFH/nS—DOI-A Y (HIH) 2 1 A 35 35
; # R 35 35 1 35 1
/ PP PP 0] €] ) HE e —
B A * " 35 35 1 35 1
B $HY ETH / aS—Dm-A Sy (@) R :
; # 35 35 1 35 1
® $9Y K75/ aS—Om-8 %) HE bt
7 A % R 35 1
z $HY KT /AT~ 1A () R K 3 1
R 35 1
4 HHYEFH/a0—@ 18 o) HE e 35 35 1
; W * o 35 1
7 H9YEFH/0S—Q@I-A 7 (H) 2 A 35 35 1
; # R 35 35 1 35 1
/ $HYEFY/aS—@1-8 ) HE e —
3 A * 2 35 35 1 35 1
b YU ETH/ 0S—QU-A E (HTIA) 53 4 : :
‘ # 35 35 1 35 1
$H KFY/ 0S—QI-B (#4) HE e
i R 35 1
SATHIUETH I AS—DI1-A (WA b 4 35 35 1
77 & R 35 1
7 SATHIYETH I BS— (#1) R e 35 35 1
73 7 i b an 35 35 1 35 1
/7 S4THHYEFY/ AI—DI-A PR & R
55 2 RE 2R 35 35 1 35 1
P2 54 TYIUETY ) AS—DI-8 %) & bt -
b i 2 35 35 1 35 1
(f; 4TI ETS/ nS—DI-A v (B R =
’ # & 2R 35 35 1 35 1
54 TYHY 7Y/ nS—Om-8 (4 R 2
i R 35 1
SATHIUETH I AS—D1-A F/SUZ (R b 4 35 35 1
77 & 2R 35 1
7 SATHIYETH/AS—D1-8 (#1) R R 35 35 1
73 i = an 35 35 1 35 1
/7 SATYIYETH/ AS—D0-A (WA = R
55 o # RE 2R 35 35 1 35 1
P2 S4TYIU KT/ AS—@1-8 (4 & bt -
» /8 i " 35 35 1 35 1
\2: SATHILETH/OS—QM-A RSV R (BT RE :
’ <% # & ; 35 35 1 35 1
54 TYIY 7Y/ AS—QU-B BV (#8) R bt
&: A R 35 1
7 FURNTH ) AT—D1-A 5 EARKAE - YouTuber 4 35 35 1
5 1
H FOENFY/AS—D1-B 5 EAREHA - YouTuber = 35 35 1 35
8 o 35 1
‘; FUELTH I AI—DI-A 5 ERRKAE - YouTuber R 35 35 1
s 5 EARREH A - YouTuber = 35 35 1 35 1
7 - -
a FUSLTH / OI—DI-A 5 ERRKAE - YouTuber : 35 35 1 35
: 1
‘/ FUENTH/0Y—Dm-B 4 BHAEEH A - YouTuber B 35 35 1 35
i R 35 1
x IVE—FAVAIFESRRADT —A a—T4 (RTE) R 5 35 35 1
> 8 % R 35 1
-4 IVE—FA YAV PESHRDI —B BT A D (#4) R B 35 35 1
51 ) B i o 35 35 1 35 1
Z5 IVE—FAAYFESFRADI-A B—FAUA ) (A A =
x # 5 2R 35 1 35 1
27 IVE—FA YA PESARDOT-B B—FTAUA (#&1) R B 35 i
o = IR AD # R o 35 35 1 35 1
IVE—FADAYFESFADI—A B—FAUA (AT il i
v # 5 R 35 35 1 35 1
k IVE—FA U4 EFI0) e} £ L2 @ (&) TR A
0 R 35 1
T IUE—FAUAYFESHADT —A B—FAUA ) (B L 4 35 35 1
> 8 R 35 1
-8 IVE—FA YAV PESHRDT —B BT A (&) L B 35 35 1
51 S U4 R B HA o 35 35 1 35 1
Y IUE—FAUAY FESHADD —A B—FAUA ) (B ; A
x 2R 35 1
27 B—FAUA (@) HR = 35 35 1
> =
@ i 2 35 35 1 35 1
2 IUA—FA YA FESHRQM—A B—FA R (BT B A
v # 2R 35 35 1 35 1
3 TUE—FA VAU FESHAQN—B B—FA A (@) B bt
0 &: A R 35 1
T IUE—FAUAYFESHABT —A B—FAUA () ERREHA 4 35 35 1
> 8 & R 35 1
e IUE—FAUAYFESHABDT —B B—FAUA (@) EAREHA e 35 35 1
8 o 35 1
/11_ IVE—FAAYFETHRRAQT —A IVE—FAAUFETRRQ (AT EARRME 5 35 35 1
x & 2R 35 1
xf( IVE—FTAVAYFESHRRAQI B IVE—FTADAYFEDRRQ (#H) EAREHA B 35 35 1 ‘
oy ) YE—FA # ERRRH A o 35 35 1 35 1
IUE—FAYAY FESHAGM—A TUE—FAUA ) (BIM) = a
v # & & 2R 35 35 1 35 1
r IVE—FA VAV FESXR@M-B IVE—FA U4 @ (&) EREEHR A
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TR—=TUAVPDI-A YR—=VAURR=D T (A b ; 35 35 1 35 1
: RF—TAV DI -B THR—TAYER—T 9 Y (@) o 35 35 1 35 1
L RF—UAY FDI—A RE—TUAY FR—S Y (HiH) = 35 35 1 35 1
f/‘ TH—UA Y FOI-B 5 (M) o 35 35 1 35 1
(:\, TA—UAY FDI—A 9o () = 35 35 1 35 1
TA—UA Y FOM-B IR—TAYPR—Ty Y () o 35 35 1 35 1
TA—UAY DI —A TA—UAYRT FRVR @) - = 35 35 1 35 1
: TA—UAL DT B IR—UAYFT ERVR () I - R 35 35 1 35 1
L TA—UAY FQI—A TA—UAYRT FRVR @) T - = 35 35 1 35 1
f/‘ TA—UA QT B IR—UAYFT ERVR () I - o 35 35 1 35 1
é TA—UAY FQI—A SAY T RSVR () I - Wl = 35 35 1 35 1
TA—UA Y FQI-B F/AUR (8 I - o 35 35 1 35 1
TA—UAY DT —A TA—UAYRRRY NS4 Z M) IR - = 35 35 1 35 1
: TH—TAY @1 B TH—TAYPRRY XS X () I - o 35 35 1 35 1
L TA—UAY FAT—A TA—UAYFRRY NS4 Z (M) I - = 35 35 1 35 1
f/‘ TA—UAY QT B TH—TAYFRRY XS X () I - R 35 35 1 35 1
:;’ RF—UA Y FOW—A RF—UAVRRARY Y S (HI) IR - W = 35 35 1 35 1
TH—UA Y FOL-B TH—TAYFRRY XS X () I o 35 35 1 35 1
~ RIF—T D ARED A RIF—T D ARED (EH) =il = 35 35 1 35 1
; KNI+ —TREED1-B R+ —T o REBD (M) =N fE 35 35 1 35 1
; KT+ —T Y RRBOT-A KT+ —T Y RRBD (W) = = 35 35 1 35 1
; KNI+ —T o REEDOI-B R+ —T o ZAEBD (M) =N fE 35 35 1 35 1
; KT+ =T Y AREDL-A RTF—T D ARED (4 =il = 35 35 1 35 1
[©] KNI+ —T R EEDOMI-B R+ —T o ZAEBD (M) =N fE 35 35 1 35 1
~ RIF—TVARER 1A RIF—TARER (B =il = 35 35 1 35 1
; NI+ —TREED1-B NI+ —TREEQ (#H) =zl fE 35 35 1 35 1
; KT+ —T Y RRBOT-A KT+ —TURRBQ (Wit = = 35 35 1 35 1
; NI+ =T REERI-B NI+ —TREEQ (#H) =zl fE 35 35 1 35 1
KT+ —% Y RRBQW-A KT+ —TYRRBQ (Wit = = 35 35 1 35 1
KNI+ —T R EEQM-B NI+ —TREEQ (#H) =zl fE 35 35 1 35 1
NI+ —I Y RRBI-A NI+ —IVRRED (i) =il = 35 35 1 35 1
KNI+ —TREERI1-B RT+—XREEQ (#M) =N fE 35 35 1 35 1
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